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E R 8,403,900 + 226,504 8, 630, 404
EEABE 8,403,900
EERE 226, 504
Z Ot R 8,403,900 x 53.85% ( 35% + (1 — 35%) ) 4,525, 500
BRI 8,630, 404 + 4,525,500 13, 155, 904
—REEEE 13,155,904 x 53.85% ( 35% = (1 — 35%) ) — 358 7,084, 096
EHMmE 13,155,904 + 7,084, 096 20, 240, 000
HEREELE 20, 240,000 x 10.00% 2, 024, 000
E3 EHEE 20, 240,000 + 2, 024, 000 22, 264, 000
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FHE - BA%E - REXH 8,630, 404
BEHEERAEES 8,630, 404
HE TEtER S 8,403, 900
EEES 448,100
1 GHE#(E 1.00 448,100 448,100
=
M TEtE D #RET 6, 296, 600
2 FHnBRE 1.00 955, 300 955, 300
=
3 EIAEDRE 1.00 2,893,100 2,893,100
=
4 REWEOBRET 1.00 955, 000 955, 000
=
5 HmEER 1.00 961, 500 961, 500
=
6 HEHERUBEIEERE 1.00 531, 700 531,700
=
ERNMESTOER 584, 200
T BRI - BE 1.00 282, 850 282, 850
=
8 BHDER 1.00 301, 350 301, 350
=
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13 AFARER 1.00 20, 150 20, 150
=

EEEE 226, 504

EHERARE 18, 204

14 EBRRE 1.00 78,204 18, 204
=
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15 ZEHHER 1.00 100, 000 100, 000
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BIREE 48, 300

16 ETEREE 1.00 48, 300 48, 300
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HEn&
A 1.00 717,500.00 717,500
EXEETACH))
A 1.50 66, 900. 00 100, 350
HEn (A)
A 2.50 59, 600. 00 149,000
HEn (B)
A 2.50 48, 500. 00 121, 250
& Hi YEZEREH - 1.00=K 448, 100. 00 448,100
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EXEETACH))
A 2.50 66, 900. 00 167, 250
HEn (A)
A 4.50 59, 600. 00 268, 200
HEn (B)
A 3.50 48, 500. 00 169, 750
HEn (C)
A 6.00 40, 300. 00 241,800
HiT g
A 3.00 36, 100. 00 108, 300
& g YEZEREH - 1.00=K 955, 300. 00 955, 300
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A 9.00 66, 900. 00 602, 100
HEm (A)
A 14.50 59, 600. 00 864, 200
HEm (B)
A 11.00 48, 500. 00 533, 500
HEm (C)
A 15.00 40, 300. 00 604, 500
Hifrga
A 8.00 36, 100. 00 288, 800
& B 1EXHEH - 1.00=KC 2,893,100.00 2,893,100
BS54
& RENKROKRE 1Y
£ [z HE - BKTE By = B % i &
F EHEm (BREH)
A 4.00 66, 900. 00 267, 600
HEm (A)
A 4.50 59, 600. 00 268, 200
HEm (B)
A 3.00 48, 500. 00 145, 500
HEm (C)
A 5.00 40, 300. 00 201,500
Hifrga
A 2.00 36, 100. 00 72,200
& B 1EXHEH - 1.00=KC 955, 000. 00 955, 000
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A 1.00 66, 900. 00 66, 900
HEn (A)
A 3.00 59, 600. 00 178, 800
HEn (B)
A 1.50 48, 500. 00 72,750
HEn (C)
A 3.50 40, 300. 00 141, 050
HiT g
A 2.00 36, 100. 00 72,200
& g YEZEREH - 1.00=K 531, 700.00 531,700
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HEn (A)
A 1.50 59, 600. 00 89,400
HEn (B)
A 2.50 48, 500. 00 121, 250
HiT g
A 2.00 36, 100. 00 72,200
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A 1.00 66, 900. 00 66, 900
HEn (A)
A 1.50 59, 600. 00 89,400
HEn (B)
A 1.00 48, 500. 00 48,500
HEn (C)
A 1.50 40, 300. 00 60, 450
Hifi&
A 1.00 36, 100. 00 36,100
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F EHEm (BREH)
A 1.00 66, 900. 00 66, 900
HEn (A)
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& Hi YEZEREH - 1.00[ 126, 500. 00 126, 500
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A 1.00 66, 900. 00 66, 900
HEn (A)
A 1.00 59, 600. 00 59, 600
& Hi YEZEREH - 1.00[ 126, 500. 00 126, 500
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A 1.00 77, 500. 00 71,500
F EHEm (BREH)
A 1.00 66, 900. 00 66, 900
HEm (A)
A 1.00 59, 600. 00 59, 600
& &t 1EXHEH - 1.00[E] 204, 000. 00 204, 000
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&2 EBRTERREER 1X&HY
£ [z HIE - BKTE By = B % i &
F EHEm (BREH)
A 1.50 66, 900. 00 100, 350
HEm (A)
A 2.50 59, 600. 00 149, 000
HEm (B)
A 2.50 48, 500. 00 121, 250
HEm (C)
A 2.50 40, 300. 00 100, 750
& &t 1EZEHEH - 1.00=K 471, 350.00 471, 350
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£ [z I - BKTE By = B % i &
HEm (C)
A 0.50 40, 300. 00 20, 150
& g 1EXHEH - 1.00=KC 20, 150. 00 20, 150
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=® 1.00 78, 204.00 78,204
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& BIARE 1xX&HY
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